COIllbiIlatiOIl example B 4TNT oI BEEBARICRELTOET,

W500 / D450 / H1900 W500 / D450 / H1900 W800 / D450 / H1900 W800 / D450 / H1900

TL—L DOx2 TL—L Dx2 TL—L DOx2 TL—L Dx2

a=yb ®X1 Ox1 azyh  @x1 0x1 azyh  @x1 BX1 azyh  @x1 @x1

total 128,000m®i2140.800m) total 133,000m@:2146,300m) total 170,000m:2187,000m) total 160,000m®:2176.000m)

W1200 / D450 / H1900 W1200 / D450 / H1900 W1200 / D450 / H1900 W1275 / D450 / H840

TL—L DOx2 TL—L Ox2 TL—L Dx2 TL—L @x3

a=yh  @BX1 @x1 =k @®X1 @X1 =gk @®X1 @x1 a=yk  @OX1 @x1

total 195,000m2214,500m) total 195,000m2214,500m) total 195,000m::2214,500m) total 157,500m:2173.250m)

3 3
W1575 7/ D450 / H1900 W1675 / D450 / H1900 W1675 / D450 / H1900
TL—L @x1 Ox2 JL—L (DX3 JL—L DOx3
azyh @x1 @x1 @x1 =gk @x1 ®x1 @%1 @Xx1 azyh @x1 @x1 ®x1 @x1
Z0Oftt @x1 Z0OMt  @x1 oM @xA1
total 254,000mi2279,400m) total 299,50 0m(#52329,450m) total 306,000m®:2336.600m)
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